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Multiple Choice Questions
1.  The SI unit of mass is,
(kg 2 g (3) mg (4) Metric ton (5) mg
2. The force acting on an object is F. Now that force is increased by 10 %. Then the force acting on the object is,
1) 0.1F 2)10F (3)110F
4)0.2F 5)1.1F

3. There are two discs A & B with an equal thickness , but the

density of A is twice that of B, while the radius of B is twice that @
of A.

(A)Disc
Mass of disc A

Mass of disc B

M 2 @+ @+ @

(4) 1 (5) 4 (B)Disc

would be equal to,

4. Radius of a drop of mercury formed by the addition 1000 drops of equal radius r is,

(1) 1000 r (2)100r 3)10r
@ fior (5) {1000 r
5 X =/F d? When the d value in this equation doubled and h value is halved, what is the value obtained for
8h x in terms of the previous x value?
(1) Twice. (2) Four times. (3) Eight times.
(4) V2 times. (5) 2 V2 times.
6. When A and B are two physical quantities, their reltionshio is A x B = constant. Here when the quantity B is

increased by 25 %, then the quantity A will,
(1) Decreased by 25 % (2) Decreased by 20 % (3) Decreased by 75 %
(4) Decreased by 80 % (5) Notbe changed.
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01 5 14 30
Shown below the boxes is the total number of squares in them. Number of squares in the final box is,
(1) 42 (2) 48 3)55
4) 63 572
H
8. Out of the two hollow cylindrical objects having the given «—
measurements,  ee——— = -
Volume of the larger object . a b
Volume of the smaller object i
2 4 - - ="
1) =— 2) —
O )5
8 16
2 4) —
3) 5 ) 5
32
® T
9. The speed of a motor car is 54 kmh™!. If 18 kmh! equals to 5 ms™! , then the above speed in units ms™! would be equal
to,
1) 24 (2) 30 3)12 4 15 (5) 32
10.  Figure shows a regular hexagon having sides of length a. The
area of this hexgon would be,
2
(3) 6a? 4) 63 a2
(5) 3a2
a
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